3FE HWHh= NITHELI]

(99BN 2]

2FEDSKC B (hUE (L]

D2X3=6
@ 3 X b =
@4 X 3
@ H X 6
©® 8 X 3

SHDOFE (Dt-n-rL0 %)

© 2 X 6=
@ 7 X5
® 8 X 6
@9 X9
W1 X5

BRI THELLWY bAhLTWER] %
CI1ThHhobTZrndl) a4,
PLET RAEL TCLALTL LI,

L 123 YALEDS NH5TL&xI»n?
E5EX3 =150 T, LI1DOFIZI1L1

Hh X3 =15

rEIET,

MC1=15] YELFHFEt H

= IR /AN
22Tl CdoPIic b2 BFEZ2E(Z

(2L E 9,

A B (

Bl haBELEL &

D2 X4 =

@3 X 3 =

@4 X 5=

@b X 8=

® 7 X 3=

© 8 X 2 =

@9 X 4 =

® 3
ON.
0 6
5
1 3
® 2
@ 1

B CHMEEF-C Y uTaE L)

D X =




SFE b hHh= NDNITE[L2] (5900t

(1] DS CB (»E Gu)]

D2 X3 = © 2 X 6=

@3 X5 = @7 X5 =

@4 X3 = ® 8 X 6 =

45X 6= @9 X 9 =

®8 X 3 = 1 X5 =

SHDOFE (Dt-n-rL0 %)

BRI THELLWY bAhLTWER] %
OThHobT Zrabh) x4,

RDrbw )l ONHLY, ¥ILLTLLI)?

OThobINLDIET AR K] £ CTldd) A

CALED NHTL )N

X 1= 10D

O, BX3=157DT,
(Y LW Td h,

15

A B () &Iz

Bl haBELEL &

D2X| |= 8 |®8
@3 X| |= 9 |@7
@4 X =12 |6
@ 5 X @5
®7 X =21 |©@3
®8 X =16 |®2
@ 9 X 36 |1

B CHMEEF-C Y uTaE L)

|
N
O




3FE HWHh= NITHII]

(99BN 2]

(11 [2] D5 CH (»3E L))

D2 X 3=

23 X b =

@4 X 3 =

4@ b X 6=

® 8 X 3 =

SHDOFE (Dt-n-rL0 %)

©® 2 X
@ 7 X
® 8 X
@ 9 X
1 X

BRI THELLWY bAhLTWER] %
OThHobT Zrabh) x4,

Yo bTLxo?

OThobINLDIET AR K] £ CTldd) A
KoL LIZ UOnd % .

[JI21d YARED NLTL )7

—

X 3 =1

X

X 3 =1

O

O

3=6., b6 X3=154D7T,
25 rEC Y LWwTT i,

S ©® © ® © 0 o ¢

4| B CHEBEZ/E-C YW{LTL &9

& ©

Xo=20
X8=40
X3 =21
X2=16
X4 =36

X —

X —

e © ©

© @

\

€
@)

X8=064
X7 =49
X3=128
X0=20DH
X4 =12
10




A B () %W A B () &

(1) FBEAEIE-C YWl it l s (1) PIBEAIE-><C v W<zt l L)

D2X3= 6] |@ X = O3 X4=12] |& X
2 X = 5 X = @ X = ® X
R X = © X = @_X_: @_><
(2) FlBAZzE-T vWTlALEL L (2) FlBAzE-T v wTAEL L

2 X|3l= 6 |@ X |= O3 X4=12 |@ X
@ X/ |= & X |= @ X/ |= |® X
@ X/ |= | X |= @ X/ |= | X
(3) BBz fE-T v\WTlAEL &7 (3) FlAAZ/E-T v \WwTlAEL L

DIZIX3= 6 |@ [x = D X4=12 |@ [X
@ | X = ®| | X = @ |X = ®| | X

@ |X = © | X = @ | X = © |X




